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N2.6 RGN =5. 8;

2.7 CMOS AR &% 475 ((£5)) *750 ((£5)) ;

2.8 R HFE<3g;

N2.9 RGHAEMZ: 545 (£5) umx790 (£20) um (AT ;

A2.10 a B A[ATERE =415 ; FEHE<0.05° ; x v 2 {TFEJER: +5 2K, FEiRiE<0.02 ZX;

A2, 11 R FAHUN B, IR g 7N FD, RO TT O IER ST ARN R . 77 i RS =6004600%250mm;  245: CRL=92, R9=70;
R, BOREHR (cd) >85005 F= ik IEMH 1 KA (1x) =8500;

2.12 =i USB3. 0 EMECREE R, SKHE =66b/s, REMMET (RS, FRHMERGIF A HEEEH T Windows 7 KA FEAE RS

A2.13 ZRBERT R, HIERURA, SRECAAN S S

2. 14 BoA mid gk, SeBABANES (5 Sk BRI Bl sk, ATRIB 32 RSk s R0 (R e sk, AR —WidE AT [R5, AR5 34T AL
K J3E G R B8 A R Y R PR B SRR A

2.15 NN, A4S =15, WAF>8G , [EAMEA =256G, HUMEEA=2T, ML E-£>26, Eox# (1080P) =23 5f,

#iE: ARKRESY, WE—T 1 5
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